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The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions (any ten) :
1x10=10
TS fiml e Sew frt (R GoieTt wed)

(a) Define ordinal utilitsr.
TR Sowifrer wget fmt |

(b) What is mixed economy?

i 94 59

() What is scarcity?
gt 2
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(ai) What is income effect?

i Retre I R 3@2

(e} What is composite demand?

@ s 7

(N State the law of demand.
C oitw RRGH S

fg) Define market.
e @ o)

(h) State one assumption of the law of
supply. .
cari Ry ot 56 3 wfSura B

() What is production function?
BeArm o 67

(i) Mention one cause of diseconomies of
large scale production.

TR TR B SRSHROR ot e frg |

(k) What is explicit cost?
oS Jw Ro

() Can two indifference curves cut each
- other?

TR PR it TR IR st
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(m) What is variable cost?

ARSI g R59

| (n) Mention one assumption of perfect
| competition.

ot afewifro <Br sfewa S =1

(o) What is marginal rate of substitution?

oI aftemor 37 9

(v) What is cost function?
| T T (52

(@ Define consumer’s surplus.

e B98I IR swrE iy
Answer any five of the following questions :

2x5=10
oo Rl SR R et shobr Bew R -

(@) Write two characteristics of socialist
economy,

ISR W4T 55t @Rig Rt

(b) State two determinants of demand,

SIRA 5t i Swe = |

() What is income elasticity of demand?
Bﬁ%ﬂa‘wm'ﬁﬁbmﬂ¢®tiﬁnﬁ‘ﬁsapw?

(d) What is fixed cost?
¥ @ g
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(e) What is minimum support price?

oy i wiy e

() Write two characteristics of a centrally
planned economy.

gfm’rﬁaﬁswﬁ%qm@;m
|

(9) What do you mean by Price rationing?
Price rationing 3fimsr fs W@

(h) What is isocost linep
TS T T3t 59

(i) What do you me
curve?

() What is long.

an by shift in supply

rn cost function?

W oW o

( Continued )

(c)

@

(e)

(9)

(h)
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Discuss the factors affecting price
elasticity of demand.

BiRAR v Rfomere fiflem sReTnR
SIS 4 |

Distinguish between monetary cost and
real cost.

TS 7 WIF 9FS IRT ALy (St |

Why does the demand curve slope
downward towards the right?

oI @Rl Gifier Rer Fsan®t =2

Explain the factors affecting shift in the
supply curve.

Q@M @R RIS deR @ w9
AP S 4 |

Explain the assumptions of indifference
curve analysis briefly.

P @t Rerr afsasrmz o
SIS 4 |

Explain short-run equilibrium of a
firm under perfect competition with
abnormal profit.

91 efereoR weste g ofedim qvm
TN SIPIgS Wi SrEeiRe e Raw
iAo 41 |
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4. Answer any four of the following questions : _ () What are the characteristics of perfectly

10x4=40 b competitive market? Explain long-run
. : equilibrium of a firm under perfect
were il TR R @i oifRbR Seq fort - competition. 416=10
fa) State and explain the law of demand 4f ofwiPeorEe I/ @RErTE &2
with the help.ofadiagram. Tf Rzt RO WA -
oif¥mt RRG! Bl =i Baw =t gt w4 o T 4
lain the law of variable proportion ) Lo
@ ?th% the help of a diagram. (g9 Explain the properties of indifference
*Raé3e wepeits RRG! B @it ot w1 curve.
™ fRerF @ QRPN g w1

(c) Explain diagramatically the law of
diminishing marginal utility. What are
its assumptions? 7+3=10
TRPEE AT Sawfel RIS Baw =ml
I Fq | W RN R R

(d) What do you mean by diseconomies
of large scale production? Explain its
causes. ' 2+8=10

TR AR Teetia wfreRel Ifm R gmr9
WR FRPIZ I 3 |

(h) Discuss the long-run industry supply
\ curve under perfect competition.

*f dfSmfrer Srokr AR e @t
S 3t

* %k &

() What is least cost combination of
inputs? Discuss how least cost combi-
nation of inputs is attained with the
help of isoquants and isocost lines.

2+8=10
TN T A R TSR @t o
QN S T =W, AT T4
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